

The Landau Inequality for Bounded Intervals with $\|f^{(3)}\|$ Finite

MASAE SATO

Department of Mathematics, Okayama University, Okayama 700, Japan

Communicated by Carl de Boor

Received January 12, 1981

1. INTRODUCTION AND THE THEOREM

Landau's problem concerning inequalities between derivatives on the whole real line or on the half real line has been discussed in the general settings by many authors; see, e.g., Kolmogorov [4], Cavaretta [1] and Schoenberg and Cavaretta [7]. On the other hand, in 1975, Chui and Smith [2] treated Landau's problem for bounded intervals with $\|f''\|$ finite, and recently Pinkus [5] studied a pointwise version of Landau's problem for bounded intervals. (For a simple proof of the Chui–Smith theorem we refer the reader to [6].) In this paper we intend to discuss the problem for bounded intervals with $\|f^{(3)}\|$ finite. It will be seen that Karlin's conjecture [3, p. 423], which asserts that a Zolotarev spline is extremal with respect to any derivative, is true for the third derivative (it is also true for the second).

To formulate our result, let f be a real function on the unit interval $I = [0, 1]$ such that f'' is absolutely continuous on I ; thus $f^{(3)}(t)$ exists for almost all $t \in I$ with respect to Lebesgue measure, and

$$f''(x) - f''(0) = \int_0^x f^{(3)}(t) dt \quad \text{for all } x \in I.$$

Put $\|f\|_I = \text{ess sup}_{t \in I} |f(t)|$. Then the result can be formulated as follows:

THEOREM. *Let $\|f\|_I \leq 1$ and $\|f^{(3)}\|_I \leq A$. Then*

$$\|f'\|_I \leq \frac{4}{\alpha} + \frac{A}{6} \alpha^2 \quad \text{and} \quad \|f''\|_I \leq \frac{4}{\alpha^2} + \frac{2A}{3} \alpha \quad (1)$$

if $0 \leq A < 81$, where α is defined by the relations

$$\begin{aligned} \frac{1}{3} < \alpha \leq \frac{1}{2} \quad \text{and} \quad A = 24\left(\frac{1}{2} - \alpha\right)/\alpha^2(1 - \alpha)^2; \\ \|f'\|_I \leq \frac{9}{2} \sqrt[3]{\frac{A}{3}} \quad \text{and} \quad \|f''\|_I \leq 6 \left(\sqrt[3]{\frac{A}{3}}\right)^2 \end{aligned} \quad (2)$$

if $A \geq 81$. Moreover these inequalities are best possible.

2. PROOF OF THE THEOREM

First of all we shall construct an extremizing function f_0 on I . To do this, let α be the constant introduced in the theorem if $0 \leq A < 81$, and put

$$\left(\frac{1}{3} \geq\right) \alpha = \sqrt[3]{\frac{3}{A}} \quad \text{if } A \geq 81.$$

We shall first consider the case $A > 0$. Let $a > 0$ be fixed arbitrarily, and put

$$h(t) = \frac{A}{6} (t + a) t(t - a) \quad \text{for all } t \leq a/\sqrt{3}.$$

Then, immediately,

$$h'(t) = \frac{A}{2} (t + a/\sqrt{3})(t - a/\sqrt{3}).$$

$$h''(t) = At \quad \text{and} \quad h^{(3)}(t) = A.$$

Hence, in particular, $h'(a/\sqrt{3}) = 0$, and thus it may be readily seen that there exists a unique extension g of h to the right such that g'' is absolutely continuous on $[a/\sqrt{3}, \infty)$ and also such that

$$|g(t)| \leq -h(a/\sqrt{3}) \quad \text{for all } t \geq a/\sqrt{3}$$

and

$$|g^{(3)}(t)| \leq A \quad \text{for almost all } t \geq a/\sqrt{3}.$$

More explicitly, g can be defined by

$$\begin{aligned} g(t) &= h(t) && \text{for } t \leq a/\sqrt{3} \\ &= h(2a/\sqrt{3} - t) && \text{for } a/\sqrt{3} < t \leq \sqrt{3} a \\ &= g(t - 4a/\sqrt{3}) && \text{for } t > \sqrt{3} a. \end{aligned}$$

On the other hand, since the function h satisfies

$$h(-2a/\sqrt{3}) = h(a/\sqrt{3}) = -Aa^3/9\sqrt{3},$$

we see that if $a > 0$ is such that $Aa^3/9\sqrt{3} = 1$, then

$$\frac{a}{\sqrt{3}} = \sqrt[3]{\frac{3}{A}} \quad \text{and} \quad |g(t)| \leq 1 \quad \text{for all } t \geq -2a/\sqrt{3}.$$

Thus, if $A \geq 81$ then, recalling that $\alpha = \sqrt[3]{(3/A)} \leq 1/3$, an extremizing function f_0 can be defined by

$$f_0(t) = g(t - 2a) \quad \text{for all } t \in I.$$

If $0 < A < 81$ then $a/\sqrt{3} = \sqrt[3]{(3/A)} > 1/3$; and in this case, the above examination shows that an extremizing function f_0 can be defined by solving the simultaneous equations:

$$\begin{aligned} f_0(t) &= \frac{A}{6}t^3 + Bt^2 + Ct - 1, & f_0(1) &= -1, \\ f_0(\alpha) &= 1, & f_0'(\alpha) &= 0 \quad \text{and} \quad 1/3 < \alpha \leq 1/2. \end{aligned}$$

The answer is as follows:

$$f_0(t) = \frac{A}{6}t^3 - \left(\frac{2}{\alpha^2} + \frac{A}{3}\alpha\right)t^2 + \left(\frac{4}{\alpha} + \frac{A}{6}\alpha^2\right)t - 1 \quad \text{on } I,$$

where α is such that

$$A = 24(\frac{1}{2} - \alpha)/\alpha^2(1 - \alpha)^2.$$

It is easily seen that this function is also an extremizing function for the case $A = 0$. (Here the author would like to remark that she learned from one of the referees that the above polynomial function is simply the associated Zolotarev polynomial. Also, she would like to remark that the quartic equation defining α , when $0 \leq A < 81$, can be explicitly solved, but the explicit formula is not given here, because the formula is neither simple nor essential.)

Next we shall verify some properties of f_0 needed in the proof of the theorem. Before doing so, we shall set

$$\beta = \min\{3\alpha, 1\} \quad \text{and} \quad \beta^* = \beta + 2k\alpha,$$

where $k \geq 0$ is an integer such that $\beta + 2k\alpha \leq 1 < \beta + 2(k + 1)\alpha$. Then f_0 satisfies the following properties:

(a) $\|f_0\|_I = f_0(\alpha) = 1, f_0(0) = f_0(\beta) = -1$ and $|f(\beta^*)| = 1$.

(b) If $0 \leq A < 81$, then

$$\|f_0'\|_I = f_0'(0) = \frac{4}{\alpha} + \frac{A}{6} \alpha^2 \text{ and } \|f_0''\|_I = -f_0''(0) = \frac{4}{\alpha^2} + \frac{2A}{3} \alpha.$$

(c) If $A \geq 81$, then

$$\|f_0'\|_I = f_0'(0) = \frac{9}{2} \sqrt[3]{\frac{A}{3}} \quad \text{and} \quad \|f_0''\|_I = -f_0''(0) = 6 \left(\sqrt[3]{\frac{A}{3}} \right)^2.$$

(d) $f_0''(t) = At - \|f_0''\|_I$ on $[0, \beta]$, and $f_0''(\alpha) < 0$.

In fact, (a) is immediate from the definition of f_0 . If $A \geq 81$ then, since $\alpha^3 = 3/A$ and

$$f_0(t) = g(t - 2\alpha) = \frac{A}{6} t^3 - \frac{3}{\alpha^2} t^2 + \frac{9}{2\alpha} t - 1 \quad \text{on } [0, \beta],$$

we have that

$$f_0'(t) = \frac{A}{2} t^2 - 6 \left(\sqrt[3]{\frac{A}{3}} \right)^2 t + \frac{9}{2} \left(\sqrt[3]{\frac{A}{3}} \right) \quad \text{on } [0, \beta]$$

and that

$$f_0''(t) = At - 6 \left(\sqrt[3]{\frac{A}{3}} \right)^2 \quad \text{on } [0, \beta].$$

Therefore, from the definition of f_0 , (c) follows at once. Further we have

$$f_0''(\alpha) < f_0''(2\alpha) = 0,$$

which proves (d) when $A \geq 81$. If $0 \leq A < 81$, then immediately

$$f_0'(t) = \frac{A}{2} t^2 - \left(\frac{4}{\alpha^2} + \frac{2A}{3} \alpha \right) t + \left(\frac{4}{\alpha} + \frac{A}{6} \alpha^2 \right) \quad \text{on } I$$

and

$$f_0''(t) = At - \left(\frac{4}{\alpha^2} + \frac{2A}{3} \alpha \right) \quad \text{on } I.$$

Thus (b) follows, similarly. Further we have

$$f_0''(\alpha) \leq f_0''(2\alpha) < 0,$$

because $f'_0(2\alpha) < 0$, as easily seen from the definition of f_0 . This proves (d) when $0 \leq A < 81$, and the proof of (d) is completed.

Now we shall show below that if $\|f\|_I \leq 1$ and $\|f^{(3)}\|_I \leq A$ then $\|f'\|_I \leq \|f'_0\|_I$ and $\|f''\|_I \leq \|f''_0\|_I$. Since the argument is somewhat long, we divide it into several steps.

Step I. If $\|f\|_I \leq 1$, $\|f^{(3)}\|_I \leq A$ and $\|f'\|_I = \|f'_0\|_I$, then f is essentially unique on $[0, \beta^*]$; more precisely,

$$f(t) = \pm f_0(t) \quad \text{or} \quad f(1-t) = \pm f_0(t) \quad \text{for all } t \in [0, \beta^*].$$

To see this, choose $t_0 \in [0, 1]$ such that $|f'(t_0)| = \|f'\|_I$. Here we may assume without loss of generality that

$$0 \leq t_0 \leq \frac{1}{2} \quad \text{and} \quad f'(t_0) = \|f'\|_I.$$

Suppose $t_0 \neq 0$. Then we have $f''(t_0) = 0$, because f'' is continuous and

$$0 \leq f'(t_0) - f'(t) = \int_t^{t_0} f''(s) ds \quad \text{for all } 0 \leq t \leq 1.$$

Since $\|f^{(3)}\|_I \leq A$, we then have by (d) that

$$f''(t_0 + s) > f''_0(\alpha - s) \quad \text{for all } s \in [0, \alpha],$$

and hence that

$$\int_0^t f''(t_0 + s) ds > \int_0^t f''_0(\alpha - s) ds \geq \int_0^t f''_0(s) ds$$

for all $t \in (0, \alpha]$.

Therefore

$$f'(t_0 + t) - f'_0(t) = \int_0^t [f''(t_0 + s) - f''_0(s)] ds > 0$$

for all $t \in (0, \alpha]$, because $f'(t_0) = \|f'\|_I = \|f'_0\|_I = f'_0(0)$ by hypothesis. But this implies

$$\begin{aligned} f(t_0 + \alpha) - f(t_0) &= \int_0^\alpha f'(t_0 + t) dt > \int_0^\alpha f'_0(t) dt \\ &= f_0(\alpha) - f_0(0) = 2, \end{aligned}$$

which is a contradiction because $\|f\|_I \leq 1$. Hence we conclude that $t_0 = 0$, i.e., $f'(0) = \|f'_0\|_I (= f'_0(0))$.

Suppose $f''(0) < f_0''(0)$. Then, since $\|f^{(3)}\|_I \leq A$, we may again apply (d) to infer that $f''(t) < f_0''(t)$ for all $t \in [0, \beta]$. So we obtain

$$f'(t) = f'(0) + \int_0^t f''(s) ds < f_0'(0) + \int_0^t f_0''(s) ds = f_0'(t)$$

for all $t \in (0, \beta]$, and consequently

$$\begin{aligned} f(\beta) - f(\alpha) &= \int_\alpha^\beta f'(t) dt < \int_\alpha^\beta f_0'(t) dt \\ &= f_0(\beta) - f_0(\alpha) = -2. \end{aligned}$$

But this is a contradiction.

Suppose $f''(0) > f_0''(0)$. Then, since $f(0) \geq -1 = f_0(0)$, $f'(0) = f_0'(0)$ and $f_0(\alpha) = 1$, we can choose $p \in (0, \alpha]$ such that

$$f(p) = f_0(p) \quad \text{and} \quad f(t) > f_0(t) \quad \text{on} \quad (0, p).$$

Then it follows that $f'(q) < f_0'(q)$ for some $0 < q < p$. From this and the fact that $f'(0) = f_0'(0)$, we observe that $f''(r) < f_0''(r)$ for some $0 < r < q$. Since $\|f^{(3)}\|_I \leq A$, we have by (d) that

$$f''(t) < f_0''(t) \quad \text{on} \quad [r, \beta].$$

Hence

$$f'(t) = f'(q) + \int_q^t f''(s) ds < f_0'(q) + \int_q^t f_0''(s) ds = f_0'(t)$$

for all $t \in [q, \beta]$, which implies $f(\beta) - f(\alpha) < f_0(\beta) - f_0(\alpha) = -2$, a contradiction.

Suppose $f''(0) = f_0''(0)$. Then $f''(t) \leq f_0''(t)$ on $[0, \beta]$, and hence $f'(t) \leq f_0'(t)$ on $[0, \beta]$ because $f'(0) = f_0'(0)$. It follows that $f(t) \leq f_0(t)$ on $[\alpha, \beta]$, $f(\beta) = -1$ and $f(\alpha) = 1$. Therefore $f'(t) = f_0'(t)$ on $[\alpha, \beta]$, and consequently $f(t) = f_0(t)$ on $[\alpha, \beta]$. By a similar argument we see that $f(t) = f_0(t)$ on $[0, \alpha]$, and further that $f(t) = f_0(t)$ on $[0, \beta^*]$.

Step II. If $\|f\|_I \leq 1$ and $\|f^{(3)}\|_I \leq A$, then $\|f'\|_I \leq \|f_0'\|_I$.

In fact, if we should assume the contrary: $c\|f'\|_I = \|f_0'\|_I$ for some $0 < c < 1$, then, since $\|cf\|_I \leq 1$ and $\|cf^{(3)}\|_I \leq A$, we should have by Step I that $\|cf\|_I \geq \|f_0\|_I = 1$, or equivalently that $\|f\|_I \geq 1/c > 1$. But this is a contradiction because $\|f\|_I \leq 1$ by hypothesis.

Step III. If $\|f\|_I \leq 1$, $\|f^{(3)}\|_I \leq A$ and $\|f''\|_I = \|f_0''\|_I$, then $\|f'\|_I = \|f_0'\|_I$.

To see this, choose $t_0 \in I$ such that $\|f''\|_I = |f''(t_0)|$. Here we may assume without loss of generality that

$$0 \leq t_0 \leq \frac{1}{2} \quad \text{and} \quad f''(t_0) = -\|f''\|_I.$$

First suppose $0 \leq t_0 < \alpha$. Since $\|f^{(3)}\|_I \leq A$, we then have by (d) that

$$f''(t) \leq f''_0(t_0 - t) \quad \text{for all } t \in [0, t_0]$$

and that

$$f''(t) \leq f''_0(t) \quad \text{for all } t \in [t_0, \beta].$$

It follows that for all $t \in [\alpha, \beta]$

$$f'(t) - f'(0) = \int_0^t f''(s) ds \leq \int_0^t f''_0(s) ds = f'_0(t) - f'_0(0).$$

Therefore, if $f'(0) < f'_0(0)$, then we have $f'(t) < f'_0(t)$ for all $t \in [\alpha, \beta]$; consequently

$$\begin{aligned} f(\beta) - f(\alpha) &= \int_\alpha^\beta f'(t) dt < \int_\alpha^\beta f'_0(t) dt \\ &= f_0(\beta) - f_0(\alpha) = -2, \end{aligned}$$

which is a contradiction. Thus it follows that $f'(0) \geq f'_0(0) = \|f'_0\|_I$. Hence, by Step II, $\|f'\|_I = \|f'_0\|_I$.

Next suppose $\alpha \leq t_0 \leq \frac{1}{2}$. By a similar argument we have that for every $t \in (0, \alpha)$

$$\begin{aligned} f'(t_0) - f'(t_0 - t) &= \int_{t_0-t}^{t_0} f''(s) ds \leq \int_0^t f''_0(s) ds \\ &< \int_{\alpha-t}^\alpha f''_0(s) ds = f'_0(\alpha) - f'_0(\alpha - t). \end{aligned}$$

Since (a) implies $f'_0(\alpha) = 0$, it follows that $f'(t_0 - t) > f'(t_0) + f'_0(\alpha - t)$ on $(0, \alpha)$. Thus if $f'(t_0) \geq 0$ then it follows that $f'(t_0 - t) > f'_0(\alpha - t)$ on $(0, \alpha)$, and hence we get

$$f(t_0) - f(t_0 - \alpha) = \int_0^\alpha f'(t_0 - t) dt > \int_0^\alpha f'_0(\alpha - t) dt = 2,$$

which is a contradiction. On the other hand, if $f'(t_0) < 0$ then we have, for every $t \in [0, \alpha]$,

$$\begin{aligned} f'(t_0 + t) &= f'(t_0) + \int_{t_0}^{t_0+t} f''(s) ds \\ &< \int_{\alpha-t}^{\alpha} f''_0(s) ds = -f'_0(\alpha - t). \end{aligned}$$

Therefore

$$\begin{aligned} f(t_0 + \alpha) - f(t_0) &= \int_0^{\alpha} f'(t_0 + t) dt \\ &< \int_0^{\alpha} -f'_0(\alpha - t) dt = -2, \end{aligned}$$

which is a contradiction, too.

Step IV. If $\|f\|_I \leq 1$ and $\|f^{(3)}\|_I \leq A$, then $\|f''\|_I \leq \|f'_0\|_I$.

This is now an immediate consequence, and the proof of the theorem is completed.

ACKNOWLEDGMENTS

The author would like to thank the referees and R. Sato whose many helpful comments made the paper readable; one of the referees remarked that the discussion given above can be simplified if the language of perfect spline functions is used.

REFERENCES

1. A. S. CAVARETTA, JR., An elementary proof of Kolmogorov's theorem, *Amer. Math. Monthly* **81** (1974), 480–486.
2. C. K. CHUI AND P. W. SMITH, A note on Landau's problem for bounded intervals, *Amer. Math. Monthly* **82** (1975), 927–929.
3. S. KARLIN, Oscillatory perfect splines and related extremal problems, in "Studies in Spline Functions and Approximation Theory" (S. Karlin, C. A. Micchelli, A. Pinkus, and I. J. Schoenberg), pp. 371–460, Academic Press, New York, 1976.
4. A. N. KOLMOGOROV, On inequalities between the upper bounds of the successive derivatives of an arbitrary function on an infinite interval, *Amer. Math. Soc. Transl. Ser. 1* **2** (1962), 233–243.
5. A. PINKUS, Some extremal properties of perfect splines and the pointwise Landau problem on the finite interval, *J. Approx. Theory* **23** (1978), 37–64.
6. M. SATO AND R. SATO, A simple proof of the Chui-Smith theorem on Landau's problem, *Colloq. Math.*, in press.
7. I. J. SCHOENBERG AND A. S. CAVARETTA, Solution of Landau's problem concerning higher derivations on the half-line, MRC TSR 1050, Madison, Wisconsin, 1970.